1. (a+b)?= a2+2ab+hb?

2. (atb)?= (a-b)?+4ab

3. (a-b)?= a2-2ab+b?

4 ™ (a-b)?= (atb)2-4ab

5 a2 + b2= (a+b)?-2ab.

6. a2 + b?= (a-b)?+2ab.

7. a2-p2= (a +b)(a -b)

8. 2(a2+b?)= (at+b)?+(a-b)?

9. 4ab = (a+b)?-(a-b)?

10 ab = {(a+b)/2}?-{(a-b)/2}?

11 (a+b+c)? = a?+b2+c2+2(ab+bc+ca)

12 (a+b)? = a+3a%b+3ab2+h3

13 (a+b)3 = a3+b3+3ab(a+b)

14 ™ a-b)3= a3-3a2b+3ab2-b3

15 (a-b)3= a3-b3-3ab(a-b)

16 ad+p3= (a+b) (a2-ab+b?)

17 ™ a3+p3= (a+b)3-3ab(atb)

18 a3-p3 = (a-b) (a?+ab+b?)

19 a3-p3 = (a-b)3+3ab(a-b)

20. (@2 +b2+c?)=(a+b+c)2—2(ab+ bc + ca)

212 (ab+bc+ca)=(a+b+c)2—(a2+b2+c?

22 (a+b+c)P=ad+b¥+cd+3(@+b)(b+c)(c+a)
23 a3 + p3 + ¢3 — 3abc =(atb+c)(a? + b2+ c2-ab-bc— ca)
24 ™ a3 + b3 + ¢3 - 3abc =Y2 (atb+c) { (a—b)2+(b—c)?+(c-a)?}
25 (x+a)(x+h)=x2+(a+b)x+ab

26 (x+a)(x—hb)=x2+(a—-b)x—ab

27T (x—a)(x+h)=x2+(b—-a)x—ab

28 (x—a) (x—b)=x2-(a+b)x+ab

29 (x+p) (x+q) (x+r) = x* + (p+qg+r) X2 + (pg+gr+rp) X +pgr
30.™ bc (b-c) +ca(c-a)+ab(a-b)=-(b-c)(c-a)(a-h)
31 a2 (b-c) +b?(c-a) +c2(a-b)=-(b-c) (c-a) (a-b)
32ma(b?-c?)+b(c?-a?)+c(@-b?)=(b-c)(c-a)(a-h)

33 a3 (b - c) + b3 (c-a) +c3 (a -b) =- (b-c) (c-a) (a-b)(a+ b +c)
34 2-c2 (b2-c?) + c2a?(c?-a2)+a2b?(a-b?)=-(b-c) (c-a) (a-b) (b+c) (c+a) (a+b)

35.» (ab + bc+ca) (at+b+c) - abc = (a + b)(b + ¢) (c+a)
36 (b+c)(c+a)a+b)+abc=(a+b+c)(ab+bc+ca)




